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Examiner tips


Advice from the examiner on key points in the text to help you learn and recall unit content, avoid pitfalls, and polish your exam technique in order to boost your grade.





[image: ]








[image: ]






Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summary




• Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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Questions & Answers
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About this book



This student guide is an ideal resource for your revision of AQA Accounting A2 Unit 4: Further Aspects of Management Accounting. The guide is in two sections:




• Content Guidance covers the content of Unit 4.


• Questions and Answers provides ten questions; each question focuses on a specific area of content. Each question is based on the format of the A2 examination papers and is followed by two sample answers (an A-grade and a lower-grade response) together with comments by the examiner.





You should read the relevant topic area in the Content Guidance section before you attempt a question from the Questions and Answers section. Only read the specimen answers after you have attempted the question yourself.


Aims of the A2 qualification


The A2 accounting course aims to encourage you to develop:




• an understanding of the importance of effective accounting information systems and an awareness of their limitations


• a critical approach to the appraisal of financial issues and business practices


• an understanding of the purposes, principles, concepts and techniques of accounting


• the transferable skills of numeracy, communication, ICT, application, presentation, interpretation, analysis and evaluation in an accounting context


• an appreciation of the effects of economic, legal, ethical, social, environmental and technological influences on accounting decisions


• a capacity for methodical and critical thought, which serves as an end in itself, as well as a basis for further study of accounting and other subjects








Content Guidance


The Content Guidance section of this guide outlines the topic areas covered in Unit 4. Unit 4 builds on the assessment objectives covered in your AS course but the assessment objectives will now be applied to more complex situations and content.


Manufacturing statements


By this stage of your studies of accounting you will have produced many income statements. Income statements are prepared for businesses that trade, i.e. they purchase goods and resell them.


Businesses that make goods and sell them need more information than is shown in the income statements that you are used to producing. The ‘extra’ information is shown in a manufacturing statement that appears before the income statement. A manufacturing statement shows the costs associated with the production process. It shows the costs of running and maintaining the factory in which the product is made. A manufacturing statement is the link between cost accounting and financial accounting. It has its place in both branches of accounting.


A manufacturing statement itemises all of the factory costs associated with the production process. It has two main sections.


The prime cost section


This section contains all the costs that can be directly attributed to the product. These are known as direct costs (or variable costs) and include:




• the cost of raw materials


• the wages of production workers


• other direct expenses, for example manufacturing royalties






The overheads section


This section contains the payments made for all the other activities that are necessary to run the factory. These are not of a general nature and are essential in running the factory. However, they cannot be directly attributed to the product being made. These overheads could include any expenses incurred because of the factory’s existence, for example:




• factory rent and business rates


• supervisors’ wages


• depreciation of any plant and machinery used in the factory





Overheads that do not contribute to the running of the factory are entered in the income statement. Examples of these would include:




• selling and distribution costs


• wages of office personnel


• depreciation of IT equipment





It is important that you can classify items of expenditure into those occurring in the factory and those incurred by the office. You then need to be able to segregate factory expenditure into:




• prime costs


• overheads (other factory costs)










[image: ]






Knowledge check 1


Which of the following expenses would appear in the prime cost section of the manufacturing statement of a clothing manufacturer: sales staff wages, purchases of wool, office heating costs, wool dyes, managers’ wages, rent of showrooms?





[image: ]








If you can do this quickly and efficiently, you can produce a manufacturing statement.


The most common error that students make is to deduct the overheads from prime cost. Do not be one of those students. Remember that the manufacturing statement is a list of all expenses incurred in running a factory.


This total is called total production cost.
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Knowledge check 2






	 

	At the start of a financial year

	At the end of the same financial year






	Work in progress

	£3500

	£5600







Manufacturing cost for the year was £560 000. What was total production cost?
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Examiner tip


When you prepare a manufacturing statement always identify prime cost, factory overheads, total production cost and the transfer price of goods transferred to an income statement.
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Inventories in a manufacturing business


There are usually three types of inventory:




(1) Raw materials — these are the ‘ingredients’ that have yet to enter the production process.


(2) Work-in-progress — products that are partly finished and still need further processing before they reach their finished form.


(3) Finished goods — these are goods that are waiting to be sold.





The three different types of inventory appear in different sections of the financial statements.


Since raw materials are used in the factory and partly finished goods have not yet completed their journey through the factory, both appear in the manufacturing statement. The opening and closing inventories of raw materials are incorporated in the prime cost section. The inventory of work-in-progress comprises adjustments that are shown after the total factory overheads have been added to prime cost.


The inventory of finished goods appears in the income statement since these are the goods that the business trades with.
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Examiner tip


Never include sales revenue in a manufacturing statement.
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Provision for unrealised profit



Some manufacturing businesses transfer the goods that they produce to the warehouse ready for selling to customers at a price that is greater than the total production cost. The difference between the transfer price and the total cost of producing the goods is a profit on manufacturing (or a profit earned by the factory).
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Knowledge check 3


The balance brought down in the provision for unrealised profit at the start of a financial year was £1000. The balance shown at the end of the year was £1400. Calculate the change in the provision during the year. Explain how the change appears in the financial statements of the business.





[image: ]








This profit loading gives credit to the factory personnel for their part in contributing to the overall profitability of the business (it is an attempt to recognise the part that the factory has played as one section of the business).


Total gross profit of a business stems from:




• manufacturing efficiently


• selling goods at a price that is higher than production costs





The profit loading can be:




• a percentage of the total production cost or


• the price to be paid if the goods had been purchased from another manufacturing business





Example 1 Percentage of total production cost:


John manufactures a component for the motor industry. Finished goods are transferred to the income statement at cost plus 20%. He provides the following information for the year ended 31 January 2012.










	 

	£000






	Sales

	4 760






	Inventory of finished goods at 1 February 2011

	32






	Inventory of finished goods at 31 January 2012

	40






	Total production cost

	2 100
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Prepare extracts from:




(a) the manufacturing statement for the year ended 31 January 2012


(b) the income statement to show how the transfer is dealt with





Answer:




(a) John: Extract from the manufacturing statement for the year ended 31 January 2012












	 

	£






	Total production cost

	2 100 000






	Manufacturing profit

	    420 000






	Transfer price

	    2 520 000












(b) John: Extract from an income statement for the year ended 31 January 2012














	 

	£

	£






	Sales

	 

	4 760 000






	Less cost of sales

	 

	 






	Inventory of finished goods at 1 February 2011

	32 000

	 






	Transfer price of manufactured goods

	    2 520 000

	 






	 

	2 552 000

	 






	Inventory of finished goods at 31 January 2012

	    40 000

	    2 512 000






	Gross profit on trading

	 

	    2 248 000
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Example 2 Price to be paid if the goods were purchased from another manufacturing business:


Jayne provides the following information for her manufacturing business for the year ended 29 February 2012.


She transfers goods from her factory to the income statement at a price dictated by the market for her goods if she were to purchase them rather than manufacture them.










	 

	£000






	Sales

	7 630






	Inventory of finished goods at 1 March 2011

	87






	Inventory of finished goods at 29 February 2012

	96






	
Total production cost

	3 780






	Market price of goods if purchased from an ‘outside’ supplier

	4 370
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Prepare extracts from:




(a) the manufacturing statement for the year ended 29 February 2012


(b) the income statement showing the gross profit on trading





Answer:




(a) Jayne: Extract from the manufacturing statement for the year ended 29 February 2012












	 

	    £000






	Total production costs

	3 780






	Manufacturing profit

	    590






	Transfer price

	    4 370












(b) Jayne: Extract from the income statement for the year ended 29 February 2012














	 

	£000

	£000






	Sales

	 

	7 630






	Less cost of sales

	 

	 






	Inventory of finished goods at 1 March 2011

	87

	 






	
Transfer price of manufactured goods

	    4 370

	 






	 

	4 457

	 






	Inventory of finished goods at 29 February 2012

	    96

	    4 361






	Gross profit on trading

	 

	    3 269
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Inventories that are passed for sale must be valued in order to prepare the cost of sales section of an income statement. The sales staff may value the inventory of finished goods at the cost to them, i.e. the transfer price from the factory. This ‘cost’, as we have seen, is designed to give credit to the factory personnel for contributing to the overall profit of the business.


If the inventory of finished goods is valued at the transfer price, any valuation will include the profit loading.


Valuing inventory of finished goods at cost plus a profit loading contravenes two accounting concepts:




• The concept of prudence — in Unit 3 we saw that inventories should be valued at the lower of cost and net realisable value.


• The realisation concept states that profit cannot be recognised until the title to goods passes to a customer (it is as yet unrealised).





If the valuation of inventories of finished goods contains an element of factory profit, it must be deleted in the income statement, otherwise profits will be overstated by the amount of the unrealised profit.


The inventory shown as a current asset will also be overstated so the inventory of finished goods shown in a statement of financial position must also be shown net of the unrealised profit.
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Knowledge check 4


Identify two accounting concepts that should be applied to the valuation of inventories containing an element of unrealised profit.


 


Knowledge check 5


Finished goods are transferred from a manufacturing statement at cost plus 40%. Inventory of finished goods are valued at £8960 at transfer price. Calculate the cost value of the inventory of finished goods and the amount of the profit loading.
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The provision account in itself is similar in appearance to all other provision accounts that you have prepared during your studies of accounting.


Example:


Helen Khoo manufactures plastic boxes for the electronics industry. She provides the following information for the year ended 31 December 2012.










	 

	£






	Sales to electronic industry

	1 762 500






	Transfer price from manufacturing account

	1 066 000






	Selling and distribution and administration costs

	477 430
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Additional information:








	 

	31 December 2012

	31 December 2011






	Inventories

	£     

	£     






	Raw materials

	10 120

	9 760






	Work-in-progress

	8 530

	8 270






	
Finished goods

	25 350

	22 100










Helen transfers her goods from the manufacturing statement to the income statement at cost plus 30%.


Prepare:




(a) a provision for unrealised profit account for the year ended 31 December 2012


(b) an income statement for the year ended 31 December 2012


(c) an extract from a statement of financial position at 31 December 2012 showing the treatment of inventories





Answer:




(a) Provision for unrealised profit account
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(b) Income statement for Helen Khoo for the year ended 31 December 2012
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(c) Extract from a statement of financial position at 31 December 2012














	 

	£

	£






	Current assets

	 

	 






	Inventories

	 

	 






	   Raw materials

	 

	10 120






	   Work-in-progress

	 

	8 530






	   Finished goods

	25 350

	 






	      Less provision for unrealised profit

	    5 850

	    19 500






	 

	 

	38 150
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Summary




• Businesses that produce goods prepare a manufacturing statement as part of their internal financial statements.


• The statement lists all the costs that are involved in running the factory.


• Goods may be transferred from the manufacturing statement at cost price or at a price that includes an element of factory profit.


• Factory profit can be based on a price that is charged by another manufacturer of a similar product or on a percentage ‘mark-up’ based on the total production costs.


• A provision for unrealised profit account must be opened to eradicate the unrealised profit from the financial statements.
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Marginal, absorption and activity based costing


Terms


It is important that you learn the terms used in cost accounting. You may find this difficult initially, but stick with it. Practise definitions regularly and you will find that it is not as difficult as you first think. If you have a spare moment waiting for transport, go over the definition in your head. Flash cards are useful here. Remember that a definition is an explanation of the term; it is not an example. Having said that, if you find it difficult to express your thoughts precisely, an example may be used to support your thoughts. For example, the following is not a definition:


‘Fixed costs are rent.’


However, the following would indicate to the examiner that you understand the concept of fixed costs by virtue of giving a reasonable example:
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